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CAF CAF CAF PX TP
5mg/kgiv, ID =1 60 5 mgkg, ID =2 0 250 mg,ID=3 250mg, ID=3 250mg,ID=3 250mg, ID=3
RMSD = 0.394 RMSD = 0.098 RMSD =0.133 RMSD = 0.145 °[RMSD = 0.279 RMSD = 0.187
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CAF PX B TP CAF PX
500 mg, ID =4 500 mg, ID =4 500 mg, ID =4 500 mg, ID=4 7.5 mg/kg, ID =6 7.5 mgkg, ID=6
RMSD = 0.189 RMSD = 0.224 °[RMSD = 0.266 OlRMSD = 0.455 OlRmSD - 0.674
R?=0.895 15/R° =0.897 R?=0.866 R%=0.944
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B TP CAF PX B TP
. 7.5mgkg, ID=6 . 7.5mgkg, ID =6 270mg,ID=5 270mg,ID=5 270mg,ID=5 270 mg,ID=5
RMSD = 0.454 RMSD = 0.324
R?=0.976 R?=0.988
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CAF CAF CAF CAF
50mg,ID=7 300mg, ID=8 500 mg, ID=9 750 mg, ID =10
RMSD = 0.246 40rRmsb = 0112 RMSD = 0.265 1002 vsp = 0761
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APAP APAPC APAPG APAPS APAP APAPS
1000 mg, ID = 11 1000 mg, ID = 11 1000 mg, ID = 11 1000 mg, ID = 11 20 mg/kg, ID=12 20 mg/kg, ID =12
80 4 20 0 150 30
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APAPG APAP APAP APAP
20 mg/kg, ID = 12 500 mg, ID = 13 1000 mg, ID = 14 2000 mg, ID = 15
0 40, 100 00,
RMSD = 0.236 RMSD = 0.461 RMSD = 0.147 RMSD = 0,455
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— APAP APAP APAP APAP
3 1000 mg, ID = 16 1000/130 mg, ID = 17 500/60 mg, ID = 19 500 mg, ID = 18
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